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C. Films
D. Music

(27) Tragedy causes pity and fear in:

A. The writer
B. The audience
C. The actors
D. The hero

istotle say must have six parts?

(28) What gene of lterature does AT
A. The novel

B. Comedy

C. Tragedy

D. Epic poetry

(29) What is it that, according to Aristotle. should have a begi "
ey g to Aristotle, shou d have a beginning, a middle and an end?
B. The setting
C. The themes

D. The plot

30 1
(30) The most accurate definition of the “plot” in Aristotle’s theory of tragedy is:

g g«: events of the story
_ The arrangement of the events in th
C. The arrangement ki e

of the hero’s actions in a cause-effect chain of incidents

: of the events in a cause-effect chain of incidents
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A. Interpret lit
B. Investigate
¢ Investigate
D. Investi

(35) Formalism
A. Structuralism
B. Deconstructic
C. Marxism

D. Post-structur

(36) With struc
A. Strictly literd
B. Strictly scien
C. Strict! poeti
D. Strictly Mar

(37) In Narrati
A, Thetimei
B, Thetime

The time |




